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module gray _count(
input clk,
input rst_n,
output [3:0] count_gray
);
reg [3:0] count bin;
always@(posedge clk or negedge rst n)begin
if('rst_n)
count bin <= 0;
else
count_bin <= count_bin + 1'bT;

end



assign count_gray = (count_bin >> 1) A count_bin;

endmodule

6. case ZHRYSHERBITFESAYERERIN{ATE?
reg [1:0] sel;
reg out;

always@(*) begin

case(sel)
2'b00: out = a;
2'b01: out = b;
2'b10: out = ¢;
2'b11: out = d;
endcase

end



reg [1:0] sel;

reg out;
always@(*) begin
case(sel)

2'b00: out = g;
2'b01: out = b;
endcase

end
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A5:

module div_7(
input clk,
input rst _n,
output clk out

)

endmodule
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Bl (GEWEEF) W NERIES:

a: X = #5 B+C;

g BYRSR, JEAIYERELS AR B BIRER—ERATE,

FETF:

begin

Mid = B+C;
#5

X = Mid;

end

b: X <=#5B + C;

MNFXMAEEESESEME, CEIESRR, £5% 5 MERA, X ®uEN B+C;
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initial begin

a=#50;

a=*%#41;

a=#10 O;

end
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initial begin
a<=#51;
a<=#40;

a<=#10 O;

end
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